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ARITHMETIC PROGRESSION

Practice Set 3 1

1. Which of the following squences are AP.? If they are AP. find the
common difference.

2,4,6,8,..

° Watch Video Solution

2. Which of the following sequences is an AP.? If they are AP, find the

7
iff 2, =3, —...
common difference. 2, 535



https://doubtnut.app.link/lkek2J5wfhb
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I & Watch Video Solution ]

3. Which of the following seqences are A. P.? If they are A. P. find the
common difference.

—10, =6, — 2,2, .cuen.. ..

° Watch Video Solution

4. Which of the following seqences are A. P.? If they are A. P. find the
common difference.

0.3,0.33,0.333,......

° Watch Video Solution

5. Which of the following seqences are A. P.? If they are A. P. find the
common difference.

0, —4, — 8 — 12.....

° Watch Video Solution



https://dl.doubtnut.com/l/_1hACCHKcGCfH
https://dl.doubtnut.com/l/_AiINMKspQM8v
https://dl.doubtnut.com/l/_o3LsC3UwzdFV
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6. Which of the following squences are AP.? If they are AP. find the
common difference.

2,4,6,8,..

° Watch Video Solution

7. Which of the following squences are AP.? If they are AP. find the

common difference

33+4/2,3+22,3+3/3, ..

° Watch Video Solution

8. Which of the following squences are AP.? If they are AP. find the
common difference

127,132,137, ...

° Watch Video Solution



https://dl.doubtnut.com/l/_AfC1nAm2h5Bn
https://dl.doubtnut.com/l/_2C8DOQj9Czpa
https://dl.doubtnut.com/l/_f0U0xA9vJ7ZY
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9. write an A.P. whose first term is a and common difference d in each of
the following.

a=10,d=5

° Watch Video Solution

10. Write an A. P whose first term is ¢ and common difference is d in
each of the following :

a= —3,d=0

° Watch Video Solution

11. Write an A. P whose first term is a and common difference is d in

each of the following :

1
a = —7,d:§

° Watch Video Solution



https://dl.doubtnut.com/l/_vWxWoIZ3uvuz
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12. Write an A. P whose first term is a and common difference is d of the
following :

a= —125d =3

° Watch Video Solution

13. write an A.P. whose first term is a and common difference d in each of
the following.

a=6,d=-3

° Watch Video Solution

14. Write an A. P whose first term is ¢ and common difference is d in
each of the following :

a= —19,d= —4

° Watch Video Solution



https://dl.doubtnut.com/l/_1ERRXVeOS5rM
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15. Find the first term and common difference for each of the A.P.

51,-3,-7

° Watch Video Solution

16. Find the first term and common difference for each of the A.P.

0.6,0.9,1.2,1.5,.....

° Watch Video Solution

17. Find the first term and common difference for each of the A.P.

127,135,143,151,....

° Watch Video Solution

. Find the first term and common difference for each of the A.P.

Pl>|'—‘ o

5 7
47 47

phloa

° Watch Video Solution



https://dl.doubtnut.com/l/_SnUVLwplCqM0
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Practice Set 3 2

1. Write the corect number in the given boxes from the following A. P.
1,8, 15,22, ......Here,

t1l=0,12=0,t3=0O,td= 0,12 —tl=0,t3—-t2=0 . a= [

° Watch Video Solution

2. Write the correct number in the given boxes from the following A.P.
3,6,9,12,.......
Here

tih=0,to=U,ts= U,y = L, teo—t1 = U,ts—ta =01 ..d= 01

° Watch Video Solution



https://dl.doubtnut.com/l/_t5nhOCM3Wqdp
https://dl.doubtnut.com/l/_i1aG2FGXrxnE
https://dl.doubtnut.com/l/_vXjXH5kinXzR

3. Write the correct number in the given boxes from the following A.P.
-3, —8, —13, —18,.
Here,

tlz D,t2: D,tgz D,t4: D,tz—tlz D,tg—tgz Ol C.a = ]

° Watch Video Solution

4. Write the correct number in the given boxes from the following A.P.

70, 60, 50, 40,.......

Here,t; = D,tgz D,tgz e o= D,d: L

° Watch Video Solution

5. Decide whether following sequence is an AP, if so find 20" term of the
progression.

-12,-5,2,9,16,23,30, ...

° Watch Video Solution



https://dl.doubtnut.com/l/_wq990joTAAQF
https://dl.doubtnut.com/l/_kmGhiwP01jQf
https://dl.doubtnut.com/l/_4xIdW4cIkrYT

6. Given Arithmetic Progression 12,16,20,24, ... Find the 24" term of this

progression.

o Watch Video Solution

7.Find the 19" term of the following AP.

7,13,19, 25, ...

o Watch Video Solution

8.Find the 27" term of the following A. P. 9,4, — 1, — 6, —11,....

o Watch Video Solution

9. Find how many three digit natural numbers are divisible by 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_sV85bKpFsxxM
https://dl.doubtnut.com/l/_uknywfLU6ZJ2
https://dl.doubtnut.com/l/_boF2mxbfOS2f
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10. The 11** term and the 21" term of an AP. are 16 and 29 respectively,

then find the 41" term of that A.P.

o Watch Video Solution

11.11,8,5,2, ... In this A.P. which term is number -151?

o Watch Video Solution

12.In the natural numbers from 10 to 250, how many are divisible by 4?

o Watch Video Solution

13. In an AP. 17" term is 7 more than 10 term. Find the common

difference?

o Watch Video Solution



https://dl.doubtnut.com/l/_iAIhCQWuq1dX
https://dl.doubtnut.com/l/_jwMLeBYuPY1a
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Practice Set 3 3

1. First term and common difference of an A.P. are 6 and 3 respectively :

Find 527

° Watch Video Solution

2.Find the sum of first 123 even natural number.

° Watch Video Solution

3. Find the sum of all even number between 1to 350.

o Watch Video Solution

4.1n an AP. 19" term is 52 and 38" term is 128, Find sum of first 56 terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_bS2xFotAqBMV
https://dl.doubtnut.com/l/_C5gVAE1b60sp
https://dl.doubtnut.com/l/_wfFzK6XnREmN
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5. Complete the following activity to find the sum of natural numbers

between 1 to 140 which are divisible by 4.

° Watch Video Solution

6. Sum of first 55 terms in an A.P.is 3300,find its 28" term.

° Watch Video Solution

7.1n an A.P. sum of three consecutive terms is 27 and their product is 504,
find the terms. (Assume that three consecutive terms in AP. are a -d, a,

a+d)

o Watch Video Solution

8. Find four consecutive terms in an A.P. whose sum is 12 and the sum of

3" and 4™ term is 14.


https://dl.doubtnut.com/l/_HESnsa3ueHpF
https://dl.doubtnut.com/l/_PzWIXT5cJ4Bz
https://dl.doubtnut.com/l/_v8bVjkBz2hDl
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(Let four consecutive terms be a -d ,a,a+d, a+2d)

° Watch Video Solution

9. If the9” term of an AP. is zero, then prove that 29" term is double of

19" term.

° Watch Video Solution

Practice Set 3 4

1. On 1st Jan 2016, Sanika decides to save Rs10, Rsll on second day ,

Rs12 on third day. If she decide to save like this, then on 31°* Dec 2016

What would be her total saving?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ox4drvMMlxYk
https://dl.doubtnut.com/l/_tKv5oEKBNt5a
https://dl.doubtnut.com/l/_JsBlSf59LGts

2. A man Borrows Rs. 8000 and agrees to repay with a total interest of Rs.
1360 in 12 monthly instalments. Each instalment being less than the
preceding one by Rs. 40. Find the amount of the first and last

instalments.

o Watch Video Solution

3. Sachin invested Rs. 5000 for the 1st year, Rs. 7000 for the 2nd year, Rs.
9000 in the 3rd year in National Savings Certificate scheme. How much

amount did he invest in 12 yearsgt

o Watch Video Solution

4. There is an auditorium with 27 rows of seats. There are seats in the first
row, 22 seats in the second row, 24 seats in the third row and so on. Find
the number of seats in 15™ row and also find how many total seats are

there in the auditorium?

| o Wik L\ dan C Al iklmn



https://dl.doubtnut.com/l/_16VqJVjPXHmw
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8 —ryvatlil VIUCU JUiuuivil )

5. Kargil's temperature was recorded in a week from Monday to Saturday.
All readings were in AP. The sum of temperatures of Monday and
Saturday was 50 C more than sum of temeratures of Tuesday and
Saturday. If temperature of Wednesday was —30 0 C Then find the

temperature on the other five days.

° Watch Video Solution

Problem Set 3

1. Choose the correct alternative answer for each of the following

subquestions:

(1) The sequence —10, — 6, —2,2,.......

A.isan A. P. ,Reasond = — 16

B.isan A. P.,Reasond = 4


https://dl.doubtnut.com/l/_0SS9W0KUdjNH
https://dl.doubtnut.com/l/_xBioxa3GvVWW
https://dl.doubtnut.com/l/_TWo6mP9Totw7

C.isan A. P. ,Reasond = — 4

D.is notan A. P.

Answer:

° Watch Video Solution

2. The first four terms of an Ap whose first term is -2 and the common

difference is -2 are

A—2 —0,24

B.—2,4, —8, 16

C.—2, —4, —6, —8

D.—2, —4, —8, — 16

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_TWo6mP9Totw7
https://dl.doubtnut.com/l/_06w9zFjm0crj
https://dl.doubtnut.com/l/_BYOIjxseLOcE

3. What is the sum of the first 30 natural numbers?

A. 464

B. 465

C. 462

D. 461

Answer:

° Watch Video Solution

4.Foran AP.ift; =4.d = — 4thena = .....

A6

B.7

C.20

D. 28


https://dl.doubtnut.com/l/_BYOIjxseLOcE
https://dl.doubtnut.com/l/_eq7vOaAFL5J6

Answer:

° Watch Video Solution

5.Foran AP.ifa = 3.5,d = 0,n = 101, thent, = ....

A0

B.3.5

C.103.5

D.104.5

Answer:

° Watch Video Solution

6.Inan A. P. first two terms are — 3, 4 then 21 term is.....

A —143


https://dl.doubtnut.com/l/_eq7vOaAFL5J6
https://dl.doubtnut.com/l/_cxszloLDpoHW
https://dl.doubtnut.com/l/_YfuRnzlmS3Jt

B. 143

C.137

D. 17

Answer:

o Watch Video Solution

7.1f foran AP, d = 5, thent;g —ti3=....

A b

B. 20

C.25

D. 30

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YfuRnzlmS3Jt
https://dl.doubtnut.com/l/_R6m5vWWyqGJY
https://dl.doubtnut.com/l/_9Re1PqXYlABw

8. Sum of first five multiples of 3 is.......

A. 45

B. 55

C.15

D. 75

Answer:

° Watch Video Solution

9.15, 10, 5....In this A. P. sum of first 10 terms is....

A —T75
B. —125
C.75

D. 125


https://dl.doubtnut.com/l/_9Re1PqXYlABw
https://dl.doubtnut.com/l/_jDjH9G9ErRZT

Answer:

° Watch Video Solution

10.1n an AP, 1% terms is 1 and the last term is 20. The sum of all terms is
399 then n =..........

A. 42

B. 38

C.21

D.19

Answer:

° Watch Video Solution

11. The 4th term from the end of an AP -11, -8, -5, .., 49 is

° Watch Video Solution



https://dl.doubtnut.com/l/_jDjH9G9ErRZT
https://dl.doubtnut.com/l/_KAyjtouCxKKC
https://dl.doubtnut.com/l/_Zk6p63lPWNj0

12.1n an AP. 10" term is 46, sum of 5" and 7" term is 52. find the AP.

° Watch Video Solution

13. The AP. in which 4*term -15 and 9" term is -30. Find the sum of first 10

numbers.

° Watch Video Solution

14. Two AP's are given 9,7,5.and 24,21]8,..If n"term of both the

progressions are equal then find the value of n and n' term

° Watch Video Solution

15. If sum of 3" and 8" terms of an AP. is 7 and sum of 7" and 14"

terms is -3 then find 10" term.



https://dl.doubtnut.com/l/_Zk6p63lPWNj0
https://dl.doubtnut.com/l/_ahUKGo5oLlB3
https://dl.doubtnut.com/l/_G800PhDvhnBR
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| Y Watch Video Solution J

16.1n an AP, first term is -5 and last term is 45. If sum of all the numbers

in the AP. is 120, then how many terms are there? What is the common

difference.

° Watch Video Solution

17. Sum of 1to n natural numbers is 36, then find the value of n.

° Watch Video Solution

18. Split 207 into three parts such that these are in A.P. and the product of

the two smaller parts is 4623.

° Watch Video Solution



https://dl.doubtnut.com/l/_HaREWSGP64ZR
https://dl.doubtnut.com/l/_Lab7KxyChL48
https://dl.doubtnut.com/l/_eQMOwvJiDnyh
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19. An AP consists of 37 terms. The sum of the three middle most terms is

225 and the sumj of the last three terms is 429. Find the AP.

° Watch Video Solution

20.Show that the sum of an A.P. whose first term is a, the second term is

b and the last term is ¢, is equal to ((a+c)(b+c-2a))/(2(b-a))

° Watch Video Solution

21. The sum of first P terms of an AP. is equal to the sum of its first Q

terms. Show that the sum of its first (P+Q) terms is zero.

° Watch Video Solution

22. If m times the m™ term of an AP. is equal to n times its n'* term,

show that the (m + n)™ term of the AP. is zero.

| e |


https://dl.doubtnut.com/l/_abqJ8Pke9HEU
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https://dl.doubtnut.com/l/_4iQS4eSzQfot

l &J Watch Video Solution J

23. Rs. 1000 is deposited at 10 per cent simple interest. Check if the
interest amount at the end of every year is in AP. If this is AP. then find
amount of the interest after 20 years. For this complete the following

activity.

° Watch Video Solution

Hots Solved

1. Swati was given her pocket money on jan 1°°2008. She puts Rs1 on day

1Rs2 on day 2, Rs3 on day 3 and continued doing so till the end of the
month. From this money into her piggy bank she also spent Rs204 of her
pocket money and found that at the end of the month she still had

Rs100 with her. How much was her pocket money for the month?

° Watch Video Solution



https://dl.doubtnut.com/l/_4iQS4eSzQfot
https://dl.doubtnut.com/l/_04ob1bls9j6c
https://dl.doubtnut.com/l/_0cUvd86JnCQX
https://dl.doubtnut.com/l/_gIk5sZdKqxPc

2. A man arranges to pay a debt of Rs 3600 in 40 monthly installments
which are in AP When 30 installments are paid he dies leaving one third

of the debt unpaid Find the value of the first installment

° Watch Video Solution

3. If pth, qth, r* term of an A. P is x,y and z respectively. Show that

z(g—r)+ylr—p +z2(p—q =0

° Watch Video Solution

4. Find the sum of all 3 digit numbers which leave remainder 3 when

divided by 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_gIk5sZdKqxPc
https://dl.doubtnut.com/l/_f9hFcYI7IbfJ
https://dl.doubtnut.com/l/_1R3CjCcBqkFW

5. Find the sum of all natural numbers amongest first one thousand

numbers which are neither divisbile by 2 or by 5.

° Watch Video Solution

Unique Practice Session

1. The sequence 2, 4, 8,16, .. ...

A.isan A. P. ,Reasond = 4

B.isan A. P.,Reasond = — 4

C.isnotan A. P.

D.isan A. P. with variable d

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_QHUFdHJXrUvq
https://dl.doubtnut.com/l/_E0irfVLptmfU
https://dl.doubtnut.com/l/_MMQXaLw114BF

2.Inan A. P. I termis 0 and the last term is 40. Then sum of all terms is

=.......... whenn = 20.

A. 800

B. 60

C.20

D. 400

Answer:

o Watch Video Solution

3. Arjun thought of adding all the multiples of 5 he learnt in class. So
would you help him to get the answer to first 10 multiples of 5. According
toyou Sjp = ......

A. 275

B. 500


https://dl.doubtnut.com/l/_MMQXaLw114BF
https://dl.doubtnut.com/l/_YIVFHNjqroeR

C.50

D. 550

Answer:

° Watch Video Solution

4.If —m, 17w, —=mydisan A. P. d = .........

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YIVFHNjqroeR
https://dl.doubtnut.com/l/_zqoC3m7BsUlh

5.Find first four terms of an A. P., whose first term is —6 and common

difference is +6.

A —6, +6, — 12, + 24

B.—6, — 12, — 18, — 24

C.—6, +6, +12, +18

D.—6,0,6, 12

Answer:

o Watch Video Solution

6. In an auditorium , if there are 20 seats in 1% row, 25 in 2" row then
there are ... Seats in 10™(th) row.

A. 65

B. 45

C.55


https://dl.doubtnut.com/l/_c3lxtOtWv9zp
https://dl.doubtnut.com/l/_ue5u2kWjqfbQ

D. 75

Answer:

° Watch Video Solution

7.What is the sum of the first 10 even numbers starting with 0.

A. 100

B. 90

C.20

D. 80

Answer:

° Watch Video Solution

8. What is the sum of first 10 natural numbers.


https://dl.doubtnut.com/l/_ue5u2kWjqfbQ
https://dl.doubtnut.com/l/_PfN0Iv9pS0Kn
https://dl.doubtnut.com/l/_z8uGmt0eR8XW

A. 195

B. 100

C. 30

D. 85

Answer:

o Watch Video Solution

9. Mother asked Jheel to eat one fruit on the first day, two on the second
day, and so on Jheel was very happy. But started crying because on the
tenth day she had to eat.......... fruits.

A9

B. 10

C.55

D.12


https://dl.doubtnut.com/l/_z8uGmt0eR8XW
https://dl.doubtnut.com/l/_D8CxVSV1GH2U

Answer:

° Watch Video Solution

10. Smith asked daddy to give Rs100 on first day and go on decreasing by

Rs10 daily. How much money has he collected in 10 days?

A. 550

B. 1000

C. 480

D. 320

Answer:

° Watch Video Solution

1. —10, + 10, — 10, + 10,eeeereerens Is the sequence an A. P. ? If so, find

the common difference.



https://dl.doubtnut.com/l/_D8CxVSV1GH2U
https://dl.doubtnut.com/l/_9WtbNpuuqIuu
https://dl.doubtnut.com/l/_6SCTwtXe2SBE

| o Watch Video Solution

12. -4, — 3, — 2. Is the sequence an A. P. ? If so find the common

difference.

o Watch Video Solution

13.Find a and d of an A. P. 5,12, 19, 26.

o Watch Video Solution

14.Find a and d of an A. P. 2, —2, —6,10,......

o Watch Video Solution

15.108, 108, 108, .. ........ isan A. P. find a&d.

o Watch Video Solution



https://dl.doubtnut.com/l/_6SCTwtXe2SBE
https://dl.doubtnut.com/l/_lN525pRZ7geI
https://dl.doubtnut.com/l/_dkGttfOqzBf9
https://dl.doubtnut.com/l/_xRRwj9x4VBfv
https://dl.doubtnut.com/l/_84ZSn0iY9dTu

16.Find the n'" term of an A. P. given a = 5&d = — 2.

° Watch Video Solution

17.Find the n'™ term of an A. P. givena = — 3and d=4",

° Watch Video Solution

18. Find the n® term of an A. P. Whose first term is 200 and common

difference is 7.

° Watch Video Solution

-1
19.If first term is — 1 and common difference is 5 find the n'* term.

° Watch Video Solution



https://dl.doubtnut.com/l/_84ZSn0iY9dTu
https://dl.doubtnut.com/l/_PG6UAsAdyfCW
https://dl.doubtnut.com/l/_BPGVuOsWWfcs
https://dl.doubtnut.com/l/_8yEwCWWR3Ijq
https://dl.doubtnut.com/l/_i228N9CrSCmH
https://dl.doubtnut.com/l/_1Cs6mhC7o42J

20.Ifa = 3y/3and d = 4,/3foran A. P. find t,.

° Watch Video Solution

21.Find the next termofan A. P. —3,1,5,9,.....

° Watch Video Solution

22.Given t, = 4n — 12 find ¢

° Watch Video Solution

23. Write the correct number in the given boxes from the following A. P.

2,11,20,29, .....Herea = O,t1l = 0,2 = 0,t3 = O

° Watch Video Solution



https://dl.doubtnut.com/l/_1Cs6mhC7o42J
https://dl.doubtnut.com/l/_CLQZtfNniGec
https://dl.doubtnut.com/l/_4erNwPhCHoZx
https://dl.doubtnut.com/l/_SsDFaRMaxHWR

24.Find the next two terms ofan A. P. — 7, — 4,

o Watch Video Solution

6 8
25. Find the next two terms of an A. P. Iz 1, 7

o Watch Video Solution

26. Which term of the A.P. 2,11,20,29,... is 560 ?

o Watch Video Solution

27. Check whether 41 is in the sequence. 2, 5, §, ...

o Watch Video Solution

28. How many two digit numbers are divisible by 4?



https://dl.doubtnut.com/l/_ljsh4sw6QdUf
https://dl.doubtnut.com/l/_cDvgpkklUHkR
https://dl.doubtnut.com/l/_cFdBMdxf2Res
https://dl.doubtnut.com/l/_HQQEzQMRO2ED
https://dl.doubtnut.com/l/_4sSIeN66OyX3

° Watch Video Solution

29.Find t,, for following AP, and then find 30th term of AP.

° Watch Video Solution

30. Find t,, for the following A. P. and then find 45" term of the A. P.

11

6,55,

° Watch Video Solution

31. Find the first four terms of an A. P. whose first term is —3 and

common difference —4, and also find ¢,,.

° Watch Video Solution



https://dl.doubtnut.com/l/_4sSIeN66OyX3
https://dl.doubtnut.com/l/_b5cPC8oZeZm7
https://dl.doubtnut.com/l/_jcUt4bCZxJxI
https://dl.doubtnut.com/l/_XbTY6aZ9qdYK

32. Find the sum of first n natural numbers Hence find Si5.

° Watch Video Solution

33. Find the sum of all odd numbers from 1 to 150.

° Watch Video Solution

34. Which of the following sequences are A. P. ? If it is an A. P., find
next two terms.

5,12,19,26, .. .....

° Watch Video Solution

35. Which of the following sequences are A. P. ? If it is an A. P., find
next two terms.

2, —2, —6, —10,..........

| e |



https://dl.doubtnut.com/l/_T0dT8kD0F9Kl
https://dl.doubtnut.com/l/_m9W0YItVUgcl
https://dl.doubtnut.com/l/_PhQENGiy8GbZ
https://dl.doubtnut.com/l/_xfKbaVnDMapB

l & Watch Video Solution J

36. Which of the following sequences are A. P. ? If it is an A. P., find
next two terms.

1,1,2,2,3,3, . 0cnn..

° Watch Video Solution

37. Which of the following sequences are A. P. ? If it is an A. P., find

next two terms.

° Watch Video Solution

38. The first term a and common difference d are given. Find first four
terms of AP.
(a= —3,d =4,

(i) @ = 200,d = 7


https://dl.doubtnut.com/l/_xfKbaVnDMapB
https://dl.doubtnut.com/l/_5mXX6CgMjE15
https://dl.doubtnut.com/l/_aVecjFdPHlle
https://dl.doubtnut.com/l/_EUOfNa4Dlvce

e 1
(ii)a= —1,d = — 5"

(Vya=8,d= —5

° Watch Video Solution

39. The first term a and common difference d are given. Find first four
terms of A. P.

a =200,d =17

° Watch Video Solution

40. The first term a and common difference d are given. Find first four
terms of A. P.

1
= — ]_ = — —
a ,d >

° Watch Video Solution



https://dl.doubtnut.com/l/_EUOfNa4Dlvce
https://dl.doubtnut.com/l/_Y7gtWY7XMapd
https://dl.doubtnut.com/l/_U79rSSipatfK

41. The first term a and common difference d are given

terms of A. P.

. Find first four

o Watch Video Solution

42, Find the sum of first n natural numbers.

o Watch Video Solution

43. Find the sum of first n even natural numbers.

o Watch Video Solution

44, Find the sum of first n odd natural numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_bOoNoRmzWtir
https://dl.doubtnut.com/l/_33BbhKg4Jm9e
https://dl.doubtnut.com/l/_xiiZh0TghsdW
https://dl.doubtnut.com/l/_qUaHpU50ETlq
https://dl.doubtnut.com/l/_3wkVwQLthEEH

45.1n an A. P. sum of three consecutive terms is 36 and their product is

— 5184, find the terms.

° Watch Video Solution

46. First term and common difference of an AP are 10 and —4

respectively find S,, and hence find Sos.

° Watch Video Solution

47.1n an AP 18" term is 180 and 36" term is 360 find the sum of first 53

terms.

° Watch Video Solution

48. Find four consecutive terms in an A. P. whose sum is —8 and sum of

third and fourth term is 8.

e l


https://dl.doubtnut.com/l/_3wkVwQLthEEH
https://dl.doubtnut.com/l/_iKwIqBJtJk8m
https://dl.doubtnut.com/l/_nyHjryMZlIJf
https://dl.doubtnut.com/l/_f5NeSTiML25d

| ¥ VWatch Video Solution )

49, In a certain AP. the 24th term is twice the 10th term. Prove that the

72nd term is twice the 34th term.

° Watch Video Solution

50. In the year 2015, Mrs. Shaikh got a job with salary Rs. 1,80, 000 per
year. Her employer agreed to give Rs 10,000 per year as increment. Then

in how many years will her annual salary be Rs 2,50,000?

° Watch Video Solution

51. Determine the AP whose third term is 15 and differnce of 5th from 8

is 21.

° Watch Video Solution



https://dl.doubtnut.com/l/_f5NeSTiML25d
https://dl.doubtnut.com/l/_GIWVEl1FHkFq
https://dl.doubtnut.com/l/_bbnArFqo686b
https://dl.doubtnut.com/l/_90iN25KbwJtd

52. An A.P. consists of 40 terms . If the first and the last terms are —4 and

269 respectively find the 23" term.

° Watch Video Solution

53. Find a, b and c such that the following numbers are in AP, a, 7, b, 23

and c.

° Watch Video Solution

54. The first term (a) and common difference (d) are given (¢) Find first

four terms of AP. (ii) Find 607 term and (i) Find sum of all 100 terms.

Fora — — 1,d = —
ora = d=—

° Watch Video Solution



https://dl.doubtnut.com/l/_hQFudwqeEkWg
https://dl.doubtnut.com/l/_QUv3KtO01bD5
https://dl.doubtnut.com/l/_QQK4UT8vFKKh

55. A village has 4000 literate people in the year 2010 and this number
increases by 400 per year. How many literate people will be there till year

20207

° Watch Video Solution

56. Find t,, for following A.P,, and then find 30th term of A.P.

° Watch Video Solution

57. Which term of the following A.P. is 5607 2,11,20,29.......

° Watch Video Solution

58. Find the sum of last ten terms of the AP 8, 10, 12, ..., 126.

° Watch Video Solution



https://dl.doubtnut.com/l/_R9uwPjwzLhhE
https://dl.doubtnut.com/l/_Gx68sXcOdrRw
https://dl.doubtnut.com/l/_vRY7hLneX7qN
https://dl.doubtnut.com/l/_lwdk7aVnADs3

59. Find the sum,

. 1 2 3
(z)4——+4——+4—; ............ upto n terms

(1)1 +(—2)+(—5)+.... +(—236).

° Watch Video Solution

60. Ajay sharma repays the borrowed amount of Rs 3,25,000 by paying Rs
30500 in the first month and then decreases the payment by Rs 1500

every month. How long will it take to clear his amount?

° Watch Video Solution

61. The 19th term of an AP is equal to 3 times its 6th term. If its 9th term is

19, find the AP.

° Watch Video Solution



https://dl.doubtnut.com/l/_lwdk7aVnADs3
https://dl.doubtnut.com/l/_xX6WLhcggTaE
https://dl.doubtnut.com/l/_dzWoQm56fAHZ
https://dl.doubtnut.com/l/_3UXaDdb5MtkQ
https://dl.doubtnut.com/l/_jGNHfMb0trzM

62. Find the sum of first 45 terms of an A.P. whose 8" term is 41 and 13"

termis 61.

° Watch Video Solution

63. A man has saved Rs640 during the 1°! month, Rs720 in the 2"¢ month

Rs800 in 3rd month. If he continues like this sequence 1 what will be his

5th

saving in the 25" month?

° Watch Video Solution

64. How many two digit number are divisible by 13 ? Also find their sum.

° Watch Video Solution

65.For an AP.show thatt,, ., + t(m — n) = 2t,,

° Watch Video Solution



https://dl.doubtnut.com/l/_jGNHfMb0trzM
https://dl.doubtnut.com/l/_ou5V0ndTijKb
https://dl.doubtnut.com/l/_OL38BTeud7xm
https://dl.doubtnut.com/l/_xTQzbg9L6HCQ

66. Check wether 301 is a term of the list of numbers 5, 11, 17, 23, ...

° Watch Video Solution

67. The 10th term and the 18th term of an A.P. are 25 and 41 respectively,

then find 38th term of that A.P. Similarly if nth term is 99, find the value of

° Watch Video Solution

68. How many two digit numbers are divisible by 4?

° Watch Video Solution

69. A mixer manufacturing company manufactured 600 mixers in 3™ year
and in 7" year they manufactured 700 mixer. If every year there is same

growth in the production of mixers then find (¢) production in the first


https://dl.doubtnut.com/l/_60vWrmkxMpha
https://dl.doubtnut.com/l/_05BmpaRrKk0z
https://dl.doubtnut.com/l/_KBpYAfPoUzKm
https://dl.doubtnut.com/l/_Klgk7QY8vPi6

year (ii) production in 10™ year (iii) total production in first seven

years.

° Watch Video Solution

70. Anvar saves some amount every month. In first three months he saves
Rs 200, Rs 250 and Rs 300 respectively. In which month will he save Rs.

10007 Find the totla amount saved.

° Watch Video Solution

Assignment lii

1.—4, — 3, — 2. Is the sequence an A. P. ? If so find the common

difference.

o Watch Video Solution



https://dl.doubtnut.com/l/_Klgk7QY8vPi6
https://dl.doubtnut.com/l/_mhlFUFd8s5mc
https://dl.doubtnut.com/l/_VJJtpU1cddeQ

2.Foran AP.ifa = 3.5,d = 0,n = 101, thent, = ....

A0

B.3.5

C.103.5

D. 104.5

Answer:

° Watch Video Solution

3. Find the 19™ term of the following AP.

7,13,19, 25, ...

° Watch Video Solution

4. Complete the following activity to find the sum of natural numbers

between 1 to 140 which are divisible by 4.


https://dl.doubtnut.com/l/_GC7cpW4O11p4
https://dl.doubtnut.com/l/_MWor5m8oi2mZ
https://dl.doubtnut.com/l/_7OM74SupOule

° Watch Video Solution

5. Decide whether following sequence is an AP, if so find 20 term of the
progression.

-12,-5,2,9,16,23,30, ...

° Watch Video Solution

6. On 1st Jan 2018, Sanikadecides to save Rupees 10,Rupees 11 on the
second day, Rupees 12 on the third day . She decides to save like this .

What would be her total savings at the end of the year ?

° Watch Video Solution

7.Find how many three digit natural numbers are divisible by 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_7OM74SupOule
https://dl.doubtnut.com/l/_zgHfdRMZ1OGU
https://dl.doubtnut.com/l/_mgsxJDhONjlW
https://dl.doubtnut.com/l/_WuTt98OLb4KT
https://dl.doubtnut.com/l/_jzpbkFqCqWGZ

8. A man arranges to pay a debt of Rs 3600 in 40 monthly installments
which are in AP When 30 installments are paid he dies leaving one third

of the debt unpaid Find the value of the first installment

° Watch Video Solution

9. The sum of first P terms of an AP. is equal to the sum of its first Q

terms. Show that the sum of its first (P+Q) terms is zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_jzpbkFqCqWGZ
https://dl.doubtnut.com/l/_kimxWPDXqgnZ

